

Stability on a Class of Linear Neutral Differential Systems with Distributed Argument *

BAO Jun-dong¹, HU Yong-zhen¹, AO Deng²

- (1. Dept. of Math., Inner Mongolia Normal University, Huhhot 010022, China;
2. Dept. of Pharm., Inner Mongolia Medicine College, Huhhot 010059, China)

Abstract: In this paper, a class of linear neutral differential system with distributed delay is considered. Sufficient conditions for the zero solution of the system to be uniformly stable as well as asymptotically stable are obtained.

Key words: linear neutral differential system; distributed delay; uniform stability; asymptotic stability.

Classification: AMS(1991) 34D05/CLC O175.1

Document code: A **Article ID:** 1000-341X(2001)01-0037-07

1. Introduction

Consider the linear neutral differential system with distributed argument

$$\frac{d}{dt}[x_i(t) - \int_{a_i}^{b_i} x_i(t-\theta) d\alpha_i(t,\theta)] + \sum_{j=1}^n \int_{c_{ij}}^{d_{ij}} x_j(t-s) d\beta_{ij}(t,s) = 0, \quad i = 1, 2, \dots, n, \quad (1)$$

where $a_i, b_i, c_{ij}, d_{ij} \in (0, \infty)$, $(i, j = 1, 2, \dots, n)$, are nonnegative constants, $a_i < b_i, c_{ij} < d_{ij}$, $\alpha_i(t, \theta)$ and $\beta_{ij}(t, s)$, $(i, j = 1, 2, \dots, n)$, are continuous functions for every fixed θ and s in $t \geq t_0 > 0$, and for every $t \in [t_0, \infty)$ they are positive bounded variations in θ and s .

In recent years, many authors (see [1-7]) have probed the problem of stability of zero solution of first order neutral and delay differential equations

$$\frac{d}{dt}[x(t) + p(t)x(t-\tau)] + Q(t)x(t-\delta) = 0 \quad (2)$$

and

$$\frac{d}{dt}x(t) + Q(t)x(t-\delta) = 0. \quad (3)$$

*Received date: 1998-04-08

Foundation item: Supported by the Natural Science Foundation of Inner Mongolia (97118) and Inner Mongolia Higher Education Science Research Program (2D0002).

Biography: BAO Jun-dong (1958-), male, born in Inner Mongolia, currently an associate professor at Inner Mongolia Normal University.

In this paper, we will extend the discussion to the system (1) and develop the results in [1] to system (1).

Denote $N = \{1, 2, \dots, n\}$, $\delta_{ij} = d_{ij} - c_{ij}$,

$$r = \min_{i,j \in N} \{b_i - a_i, d_{ij} - c_{ij}\}, \quad \rho = \max_{i,j \in N} \{b_i - a_i, d_{ij} - c_{ij}\}, \quad \delta = \max_{i,j \in N} \{\delta_{ij}\},$$

and $V_{t=a}^b f(t)$ means the total variation of $f(t)$ on $[a, b]$, and

$$Z_i(t) = x_i(t) - \int_{a_i}^{b_i} x_i(t - \theta) d\alpha_i(t, \theta), \quad i \in N.$$

2. Main results

Theorem 1 *If*

$$\begin{aligned} \bigvee_{\theta=a_i}^{b_i} \alpha_i(t, \theta) &\leq \alpha_i < \frac{1}{2}, \\ 2\alpha_i(2 - \alpha_i) + \sum_{j=1}^n \int_t^{t+\delta} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(\theta, s) d\theta &\leq \frac{3}{2}, \quad t \geq t_0, \quad i = 1, 2, \dots, n, \end{aligned} \quad (4)$$

where $\alpha_i, i \in N$, are constants, then the zero solution of system (1) is uniformly stable.

Proof Let $x_i(t, t_0, \phi_i)$ be the solution of system (1) satisfying the initial condition $x_i(s, t_0, \phi_i) = \phi_i(s)$ for $s \in [t_0 - \rho, t_0]$. For convenience, we denote that $x_i(t) = x_i(t, t_0, \phi_i)$. Now choose a positive integer l such that $lr \geq 2\delta$, and for any $\varepsilon > 0$, define $\eta_i = (1 - \alpha_i) \frac{\varepsilon}{n} / (1 + \alpha_i) (2\alpha_i + \frac{2}{5})^l, i = 1, 2, \dots, n$. In the following we show that for any ϕ_i and any $\bar{t} \geq t_0$, if $\|\phi_i\| < \eta_i$, then we have

$$|x_i(t, \bar{t}, \phi_i)| < \frac{\varepsilon}{n}, \quad t \geq \bar{t}. \quad (5)$$

In fact, define $\rho_{i1} = (2\alpha_i + \frac{5}{2})\eta_i, \dots, \rho_{ik} = (2\alpha_i + \frac{5}{2})\rho_{ik-1}, k = 2, 3, \dots, l$. Then $\rho_{ik} = (2\alpha_i + \frac{5}{2})^k \eta_i, k = 1, 2, \dots, l, i \in N$, and $\eta_i < \rho_{i1} < \rho_{i2} < \dots < \rho_{il} < \frac{\varepsilon}{n}$, for $i \in N$. At first, we have that

$$|x_i(t, \bar{t}, \phi_i)| < \rho_{ik}, \quad t \in [\bar{t}(k-1)r, \bar{t} + kr], \quad k = 1, 2, \dots, l. \quad (6)$$

Actually we have that for $t \in [\bar{t} - \rho, \bar{t} + r]$

$$\begin{aligned} |x_i(t)| &= \left| \int_{a_i}^{b_i} x_i(t - \theta) d\alpha_i(t, \theta) + x_i(\bar{t}_0) - \int_{b_i}^{a_i} x_i(\bar{t} - \theta) d\alpha_i(\bar{t}, \theta) - \right. \\ &\quad \left. \sum_{j=1}^n \int_{\bar{t}}^t \int_{c_{ij}}^{d_{ij}} x_j(s - \theta) d\beta_{ij}(s, \theta) ds \right| \\ &\leq \eta_i(2\alpha_i + 1) + \sum_{j=1}^n \int_{\bar{t}}^{i+r} \bigvee_{\theta=c_{ij}}^{d_{ij}} \beta_{ij}(s, \theta) ds < \eta_i(2\alpha_i + \frac{5}{2}) = \rho_{i1}. \end{aligned}$$

Which shows that (6) holds for $k = 1$ and hence

$$|x_i(t)| < \rho_{i1}, \quad \text{for } t \in [\bar{t} - \rho, \bar{t} + r], \quad i = 1, 2, \dots, n.$$

Now we replace η_i with ρ_{i1} and repeat the above procedures, we have that

$$|x_i(t)| < [2\alpha_i + \frac{5}{2}]\rho_{i2}, \quad t \in [\bar{t} + r, \bar{t} + 2r].$$

Hence by induction we can show that (6) holds.

By contradiction, we assume that (5) is not true. Then by (6) there exists some $T > \bar{t} + lr$ such that $|x_i(T)| = \frac{\varepsilon}{n}$ and $|x_i(t)| < \frac{\varepsilon}{n}$ for $t \in [\bar{t}, T)$. Without loss of generality, we assume that $x_i(T) = \frac{\varepsilon}{n}$, and we have

$$Z_i(T) = x_i(T) - \int_{\alpha_i}^{b_i} x_i(T - \theta) d\alpha_i(T, \theta) \geq \frac{\varepsilon}{n} (1 - \bigvee_{\theta=\alpha_i}^{b_i} \alpha_i(T, \theta)) \geq \frac{\varepsilon}{n} (1 - \alpha_i). \quad (7)$$

On the other hand, since

$$\begin{aligned} Z_i(\bar{t} + lr) &= x_i(\bar{t} + lr) - \int_{\alpha_i}^{b_i} x_i(\bar{t} + lr - \theta) d\alpha_i(\bar{t} + lr, \theta) \\ &< \rho_{i1}(1 + \alpha_i) = \frac{\varepsilon}{n} (1 - \alpha_i) \leq Z_i(T). \end{aligned} \quad (8)$$

Thus by (7) and (8), there exists $\xi \in [\bar{t} + lr, T]$ such that

$$Z_i(\xi) = \max_{\bar{t} + lr < t \leq T} Z_i(t), \quad \text{and } Z_i(\xi) > Z_i(t), \quad \text{for } t \in (\bar{t} + lr, \xi).$$

and

$$\begin{aligned} x_i(\xi) &= Z_i(\xi) + \int_{\alpha_i}^{b_i} x_i(\xi - \theta) d\alpha_i(\xi, \theta) \geq Z_i(T) - \frac{\varepsilon}{n} \bigvee_{\theta=\alpha_i}^{b_i} \alpha_i(\xi, \theta) \\ &\geq Z_i(T) - \alpha_i \frac{\varepsilon}{n} \geq \frac{\varepsilon}{n} (1 - \alpha_i) - \alpha_i \frac{\varepsilon}{n} = \frac{\varepsilon}{n} (1 - 2\alpha_i) > 0. \end{aligned}$$

Next, we will show that $x_i(\xi - \delta_{ij}) \leq 0$. Otherwise $x_i(\xi - \delta_{ij}) > 0$, thus there must be a left neighbor of $\xi - \delta_{ij}$, say $(\xi - \delta_{ij} - h, \xi - \delta_{ij})$ for some $h > 0$, such that $x_i(t) > 0, t \in (\xi - \delta_{ij} - h, \xi - \delta_{ij})$. This implies that $x_i(t - \delta_{ij}) > 0$, for $t \in (\xi - h, \xi)$, and therefore by system (1) we know that $Z_i(t)$ is not increasing on $(\xi - h, \xi)$, this contradicts the definition of ξ , and so $x_i(\xi - \delta_{ij}) \leq 0$. Hence there exists $T_i \in [\xi - \delta_{ij}, \xi]$ such that $x_i(T_i) = 0$, by system (1) we have

$$Z_i'(t) \leq \sum_{j=1}^n \int_{c_{ij}}^{d_{ij}} \frac{\varepsilon}{n} d\beta_{ij}(t, s) \leq \frac{\varepsilon}{n} \sum_{j=1}^n \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(t, s), \quad \bar{t} \leq t \leq T. \quad (9)$$

Since $t \in [T_i, \xi]$ implies that $t - \psi \leq T_i, \psi \in [0, \delta_{ij}]$, so from (9) we have

$$Z_i(T_i) - Z_i(t_i - \psi) \leq \frac{\varepsilon}{n} \sum_{j=1}^n \int_{t-\psi}^{T_i} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(\theta, s) d\theta,$$

that is

$$\begin{aligned}
-x_i(t-\psi) &\leq -\int_{a_i}^{b_i} x_i(t-\psi-\theta)d\alpha_i(t-\psi,\theta) + \int_{a_i}^{b_i} x_i(T_i-\theta)d\alpha_i(T_i,\theta) + \\
&\quad \frac{\varepsilon}{n} \sum_{j=1}^n \int_{t-\psi}^{T_i} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(\theta,s)d\theta \\
&\leq \frac{\varepsilon}{n} [2\alpha_i + \sum_{j=1}^n \int_{t-\psi}^{T_i} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(\theta,s)d\theta], \quad t \in [T_i, \xi]. \tag{10}
\end{aligned}$$

Substituting (10) to (1), we obtain that

$$Z'_i(t) \leq \frac{\varepsilon}{n} \sum_{j=1}^n \int_{c_{ij}}^{d_{ij}} [2\alpha_i + \sum_{k=1}^n \int_{t-\psi}^{T_i} \bigvee_{s=c_{ik}}^{d_{ik}} \beta_{ik}(\theta,s)d\theta] d\beta_{ij}(t,\psi), \quad t \in [T_i, \xi], \quad \psi \in [0, \delta_{ij}], \tag{11}$$

since $\xi - T_i \leq \delta_{ij}$ and (4), we have

$$2\alpha_i(2 - \alpha_i) + \sum_{j=1}^n \int_{T_i}^{\xi} \bigvee_{s=c_{ik}}^{d_{ik}} \beta_{ik}(\theta,s)d\theta \leq \frac{3}{2}, \quad t \in [T_i, \xi]. \tag{12}$$

Now we show that

$$Z_i(T) \leq Z_i(\xi) < (1 - 2\alpha_i) \frac{\varepsilon}{n} \tag{13}$$

holds, so it leads a contradiction to (7). We devide the proof into two cases.

Case 1 If $2\alpha_i + \sum_{j=1}^n \int_{T_i}^{\xi} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(\theta,s)d\theta \leq 1$, then integrating (11) from T_i to ξ ,

$$\begin{aligned}
Z_i(\xi) &\leq Z_i(T_i) + \frac{\varepsilon}{n} \sum_{j=1}^n \int_{T_i}^{\xi} \int_{c_{ij}}^{d_{ij}} [2\alpha_i + \sum_{k=1}^n \int_{t-\psi}^{T_i} \bigvee_{s=c_{ik}}^{d_{ik}} \beta_{ik}(\theta,s)d\theta] d\beta_{ij}(t,\psi) dt \\
&= -\int_{a_i}^{b_i} x_i(T_i-\theta)d\alpha_i(T_i,\theta) + \frac{\varepsilon}{n} \sum_{j=1}^n \int_{T_i}^{\xi} \int_{c_{ij}}^{d_{ij}} [2\alpha_i + \\
&\quad \sum_{k=1}^n (\int_{t-\psi}^t - \int_{T_i}^t) \bigvee_{s=c_{ik}}^{d_{ik}} \beta_{ik}(\theta,s)d\theta] d\beta_{ij}(t,\psi) dt \\
&\leq \frac{\varepsilon}{n} \alpha_i + \frac{\varepsilon}{n} \sum_{j=1}^n \int_{T_i}^{\xi} \int_{c_{ij}}^{d_{ij}} [\frac{3}{2} - 2\alpha_i(1 - \alpha_i) - \sum_{k=1}^n \int_{T_i}^t \bigvee_{s=c_{ik}}^{d_{ik}} \beta_{ik}(\theta,s)d\theta] d\beta_{ij}(t,\psi) dt \\
&\leq \frac{\varepsilon}{n} [\alpha_i + (\frac{3}{2} - 2\alpha_i(1 - \alpha_i)) \sum_{j=1}^n \int_{T_i}^{\xi} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(t,s) dt - \frac{1}{2} (\sum_{j=1}^n \int_{T_i}^{\xi} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(t,s) dt)^2].
\end{aligned}$$

On the other hand, we know that function $\alpha_i + (\frac{3}{2} - 2\alpha_i(1 - \alpha_i))x - \frac{1}{2}x^2$ is increasing on $x \in (0, 1 - 2\alpha_i)$. Hence

$$Z_i(\xi) \leq \frac{\varepsilon}{n} [\alpha_i + l(\frac{3}{2} - 2\alpha_i(1 - \alpha_i))(1 - 2\alpha_i) - \frac{1}{2}(1 - 2\alpha_i)^2] < (1 - \alpha_i) \frac{\varepsilon}{n}. \tag{14}$$

So the first case is complete.

Case 2 If $2\alpha_i + \sum_{j=1}^n \int_{T_i}^{\xi} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(\theta, s) d\theta > 1$, since $2\alpha_i < 1$, there must be $T_{i1} \in (T_i, \xi)$ such that

$$2\alpha_i + \sum_{j=1}^n \int_{T_{i1}}^{\xi} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(\theta, s) d\theta = 1.$$

Integrating (9) from T_i to T_{i1} and (11) from T_{i1} to ξ , then merge them together, we have

$$\begin{aligned} Z_i(\xi) &\leq Z_i(T_i) + \frac{\varepsilon}{n} \sum_{j=1}^n \int_{T_i}^{T_{i1}} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(t, s) dt + \frac{\varepsilon}{n} \sum_{j=1}^n \int_{T_{i1}}^{\xi} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(t, s) [2\alpha_i + \\ &\quad \sum_{k=1}^n \int_{t-\psi}^{T_i} \bigvee_{s=c_{ik}}^{d_{ik}} \beta_{ik}(\theta, s) d\theta] dt \\ &< \frac{\varepsilon}{n} \alpha_i + \frac{\varepsilon}{n} \sum_{j=1}^n \int_{T_{i1}}^{\xi} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(t, s) dt \sum_{j=1}^n \int_{T_i}^{T_{i1}} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(\theta, s) d\theta + \\ &\quad 2\alpha_i \frac{\varepsilon}{n} \sum_{j=1}^n \int_{T_i}^{T_{i1}} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(t, s) dt + \frac{\varepsilon}{n} \sum_{j=1}^n \int_{T_{i1}}^{\xi} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(t, s) dt + \\ &\quad 2\alpha_i \sum_{k=1}^n \int_{t-\psi}^{T_i} \bigvee_{s=c_{ik}}^{d_{ik}} \beta_{ik}(\theta, s) d\theta \\ &\leq \frac{\varepsilon}{n} [(3 - 4\alpha_i) + 2\alpha_i(-1 + 2\alpha_i + \sum_{j=1}^n \int_{T_i}^{\xi} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(t, s) dt) + \\ &\quad \sum_{j=1}^n \int_{T_{i1}}^{\xi} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(t, s) dt (\frac{3}{2} - 2\alpha_i(2 - \alpha_i)) - \sum_{j=1}^n \int_{T_i}^{T_{i1}} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(\theta, s) d\theta] \\ &\leq \frac{\varepsilon}{n} [\alpha_i + 2\alpha_i(\frac{3}{2} - 2\alpha_i(2 - \alpha_i))(1 - 2\alpha_i) + (\frac{3}{2} - 2\alpha_i(2 - \alpha_i)) - \frac{1}{2}(1 - 2\alpha_i)^2] \\ &= (1 - \alpha_i) \frac{\varepsilon}{n}. \end{aligned}$$

That is

$$Z_i(\xi) < (1 - \alpha_i) \frac{\varepsilon}{n}. \quad (15)$$

Thus by (14) and (15), we lead to a contradiction to (7). Therefore we obtain that

$$\|x(t)\| = \sum_{i=1}^n |x_i(t)| < \varepsilon, \quad \text{for } t \in [\bar{t}, \infty).$$

So the proof of Theorem 1 is complete.

Theorem 2 Under the condition (4) in the theorem 1 and if

$$\sum_{j=1}^n \int_{t_0}^{\infty} \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(\theta, s) d\theta = \infty, \quad i = 1, 2, \dots, n, \quad (16)$$

then the zero solution of system (1) is asymptotically stable.

Proof In view of theorem 1, the zero solution of system (1) is uniformly stable, hence there exists an $\eta > 0$ such that $x_i(t) = x_i(t, t_0, \phi)$ is bounded for $\phi \in C([t_0 - \rho, t_0], (-\eta, \eta))$.

Without loss of generality, we assume that $x_i(t), i \in N$, is eventually positive, hence $Z_i(t) = x_i(t) - \int_{a_i}^{b_i} x_i(t - \theta) d\alpha_i(t, \theta)$ is eventually nonincreasing function. Set

$$K_i = \lim_{t \rightarrow \infty} Z_i(t),$$

it is obvious that $K_i \in \mathbb{R}$, then

$$\overline{\lim}_{t \rightarrow \infty} x_i(t) = K_i + \overline{\lim}_{t \rightarrow \infty} \int_{a_i}^{b_i} x_i(t - \theta) d\alpha_i(t, \theta) \leq K_i + \alpha_i \overline{\lim}_{t \rightarrow \infty} x_i(t).$$

Thus

$$\overline{\lim}_{t \rightarrow \infty} x_i(t) \leq \frac{K_i}{1 - \alpha_i},$$

this implies that $K_i \geq 0$. If $K_i > 0$, consider the following inequality

$$\begin{aligned} \underline{\lim}_{t \rightarrow \infty} x_i(t) &= K_i + \underline{\lim}_{t \rightarrow \infty} \int_{a_i}^{b_i} x_i(t - \theta) d\alpha_i(t, \theta) \geq K_i - \alpha_i \underline{\lim}_{t \rightarrow \infty} x_i(t) \\ &\geq K_i - \alpha_i \frac{K_i}{1 - \alpha_i} = \frac{1 - 2\alpha_i}{1 - \alpha_i} K_i = \alpha > 0. \end{aligned} \quad (17)$$

By (17), we conclude that there is a large enough T such that $x_i(t) > \frac{\alpha}{2}$ for $t \geq T$. Thus by system (1) we have

$$Z_i(t) < -\frac{\alpha}{2} \sum_{j=1}^n \bigvee_{s=c_{ij}}^{d_{ij}} \beta_{ij}(t, s), \quad t \geq T.$$

Hence from condition (16), we get

$$\lim_{t \rightarrow \infty} Z_i(t) = -\infty,$$

this contradiction to $K_i > 0$. So $\lim_{t \rightarrow \infty} x_i(t) = 0$, that is $\lim_{t \rightarrow \infty} \|x(t)\| = 0$. Thus the proof is completed. \square

References:

- [1] YU J S. *Asymptotical stability for nonautonomous scalar neutral differential equations* [J]. J. Math. Anal. Appl., 1996, **203**: 850-860.
- [2] YONEYAMA T. *On the 3/2 stability theorem for one-dimensional delay differential equations* [J]. J. Math. Anal. Appl., 1987, **125**: 161-173.
- [3] LADAS G and SFICAS Y G. *Asymptotic behavior of oscillatory solution* [J]. Hiroshima Math. J., 1988, **18**: 351-359.
- [4] YORKE J A. *Asymptotic stability for one dimensional differential-delay equations* [J]. J. Differential equations, 1970, **7**: 189-202.

- [5] YONEYAMA T. The $3/2$ theorem for one dimensional-delay differential equations with unbounded delay [J]. J. Math. Anal. Appl., 1992, 165: 133-143.
- [6] GAO G. On $3/2$ asymptotic stability of one dimensional-delay differential functional equations with unbounded delay [J]. Kexue Tongbao (chinese), 1993, 33(8): 683-686.
- [7] H J W, YU J S and CHEN M P. Asymptotic stability for scalar delay differential equations [J]. Funkciac Ekval, 1996, 39: 1-17.

一类具分布型滞量的中立型微分系统的稳定性

包俊东¹, 胡永珍¹, 敖登²

(1. 内蒙古师范大学数学系, 呼和浩特 010022; 2. 内蒙古医学院药理学系数学组, 呼和浩特 010059)

摘要: 研究了一类具分布型滞量的线性中立型系统, 得到了系统零解的一致稳定性及渐近稳定性的充分条件.

美国《数学评论》2000年收录中国期刊名单

朱 诚¹, 陈景杰², 杨丽君³

(1. 大连理工大学图书馆国际期刊咨询室, 辽宁 大连 116024; 2. 大连海事大学学报编辑部,

辽宁 大连 116026; 3. 沈阳建筑工程学院学报编辑部, 辽宁 沈阳 110015)

关键词: 文献统计; 刊源表; 数学; 中国期刊 文献标识码: E 文章编号: 1000-341X(2001)01-0043-01

安徽师大学报: 自然科学版	吉首大学学报: 自然科学版	数学杂志 (武汉大学)
宝鸡文理学院学报: 自然科学版	计算机科学与技术: 英文版	四川联合大学学报: 工程科学版
北京大学学报: 自然科学版	计算机学报	四川大学学报: 自然科学版
北京理工大学学报	计算数学	四川师范大学学报: 自然科学版
北京理工大学学报: 英文版	计算数学: 英文版	天津大学学报: 自然科学工程版
北京师范大学学报: 自然科学版	科学通报: 英文版	天体物理学报
逼近论及其应用: 新辑, 英文版	控制理论与应用 (广州)	天文学报
长沙电力学院学报: 自然科学版	兰州大学学报: 自然科学版	同济大学学报: 自然科学版
长沙交通学院学报	兰州铁道学院学报	微分方程年刊: 英文版
重庆师范学院学报: 自然科学版	理论物理通讯: 英文版	武汉大学学报: 英文版
纯粹数学与应用数学 (西北大学)	力学学报	武汉大学学报: 自然科学版
大连理工大学学报	力学学报: 英文版	物理学报
代数集刊: 英文版 (北京)	辽宁师范大学学报: 自然科学版	西安交通大学学报
电子科技大学学报	洛阳大学学报	西北大学学报: 自然科学版
东北大学学报: 自然科学版	模糊系统与数学	西北师范大学学报: 自然科学版
东北师大学报: 自然科学版	内蒙古师大学报: 自然科学版	西南师范大学学报: 自然科学版
东北数学: 英文版 (吉林大学)	南京大学学报: 数学半年刊	系统工程学报 (天津)
东南大学学报	南京大学学报: 自然科学版	系统科学与数学
东南大学学报: 英文版	南京师大学报: 英文版	系统科学与数学: 英文版
非线性科学与数值模拟通讯: 英文版	南京师大学报: 自然科学版	厦门大学学报: 自然科学版
福建师范大学学报: 自然科学版	宁夏大学学报: 自然科学版	湘潭大学自然科学学报
福州大学学报: 自然科学版	偏微分方程: 英文版 (郑州)	新疆大学学报: 自然科学版
复旦学报: 自然科学版	青岛大学学报: 自然科学版	信息与控制 (沈阳)

(下转第46页)